ग्रामीण कार्य विभाग, कार्य प्रमंडल, किशनगंज-2 (जिला-किशनगंज)

Suphamo. 83/MABARD/SBD/2017-18

## SUPPLEMENTARY **AGREEMENT** (REVISED)



TOTAL MINISTER

## SUPPLEMENTARY AGREEMENT (REVISED) CONST. OF ROAD FROM TOS TO DR. ABDUL KALAM AGRICULTURE COLLEGE ARRABARI UNDER-NABARD KISHANGANJ

This agreement made the  $\frac{Feb}{}$  day of  $\frac{9/2}{}$  20  $\frac{22}{}$ between EXECUTIVE ENGINEER, RURAL WORKS DEPARTMENT, WORKS DIVISION. KISHANGANI-2 (hereinafter called "the Employer" of the one part and Contractor ASHOK KUMAR, AT & P.O.- JOGTA, DIST.- BHOJPUR (hereinafter called "the contractor of the other part). Whereas the Employer is desirous that the contractor execute CONSTRUCTION OF ROAD WORK WITH 5 (FIVE) YEARS MAINTEANCE FROM TOS TO DR. ABDUL KALAM AGRICULTURE COLLEGE ARRABARI) UNDER- NABARD IN POTHIA BLOCK (hereafter called "the works") and the employer has accepted the Bid by the contractor for the execution and completion of such works and the remedying of any defects therein at a cost of  ${\it REVISED}$ CONSTRUCTION Rs. 2,17,38,018.00 + MAINTENANCE Rs.- 22,078.00 = TOTAL Rs.-2.17.60.096.00 (TWO CRORE SEVENTEEN LACS SIXTY THOUSAND NINETY SIX) ONLY.

)। यह द्वारहा

## NOW THIS AGREEMENT WITHESSETH as follows:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the conditions of contract hereinafter referred to, and they shall deemed to form and be read and construed as part of this Agreement.
- 2. In consideration of the payment to be made by the employer to the contractor as hereinafter mentioned, the contractor hereby covenants with the Employer to execute and complete the works and remedy any defects therein conformity in all aspects with the Provisions of the contract.
- 3. The Employer hereby covenants to pay the contractor in consideration of the execution and completion of the works and the remedying the defects wherein the contract price or such other sum as may become payable under the provisions of the contract at the times and in the manner prescribed by the contract.
- 4. The following documents shall be deemed to form and be read and construed as part of this Agreement, VIZ
  - Letter of Acceptance (i)
  - Notice to proceed with the works (ii)
  - Contractors Bid (iii)
  - Contract Data (iv)
  - Special conditions of Contract and General conditions of contract (v)
  - Specifications (vi)
  - Drawings (vii)
  - Bill of quantities ; and (viii)
  - Any other document listed in the contract data as forming part of the Contract. (ix)In witness where of the parties there to have caused this Agreement to be executed the day and year first before written. 101/1014

	Executive Engineer
The Common Seal of	Rùral Works Department
	Work Division, Kishanganj-2
could in the presence of	i) Sri
Was hereunto affixed in the presence of	

ii) Sri

Signed Sealed and delivered by the said to ASHOK KUMAR,	AT & P.O JOGTA, DIST
BHOIPUR In the presence of	
	i)Sri
	ii) Sri
	CONTRACTOR
Pinding Signature of Employer	oyloyzozy
Binding Signature of Employer	Executive Engineer Rural Works Department Vork Division, Kishanganj-2
Binding Signature of Contractor	<i>'</i>   '

CONTRACTOR

uoted	Rate in Words	Runees .	Two C-	200 500	nteen Lakh Sixty Thousand	
					(-)	2,41,77,885.00 24,17,789.00
oted	Rate 10% below on BOQ Rate					24177865.0
y Am	ount				Five Paise Only Rupees Only	
1	Maintainance for 5th year stimated Cost in Figures	1.300	Year	3833.850	Rupees Three Thousand Eight Hundred Thirty Three And Eighty	4984
	Maintainance for 4th year	1.300	Year	3794.620	Rupees Three Thousand Seven Hundred Ninety Four And Sixty Two Paise Only	4933
	Maintainance for 3rd year	1,300	Year	3794.620	Rupees Three Thousand Seven Hundred Ninety Four And Sixty Two Paise Only	4933
	- ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1.300	Year	3743.850	Rupees Three Thousand Seven Hundred Forty Three And Eighty Five Paise Only	4867
26.00		1.300	Year	3703.080	Rupees Three Thousand Seven Hundred Three And Eight Paise Only	4814
26.0	Compound with Reflectorsing Glass Beads on Blauminous Surface Pproviding and laying of hot applied thermolastic compound 2.5 mm thick including reflectorising plass beads @ 250 gms per sigm area thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC 35. The finished Surface to be level uniform and free from streaks and holes.	450.000	Nos	127.110	Rupees One Hundred Twenty Seven And Eleven Paise Only	21354
25.00	Providing weepholes in trick masonry/stone missonry plaintreinforced concrete abutment.wing walk-return wall with 100 mm dia AC pipe extending through the full width of the structures with slope of 10/3.20(Histowards drawing face complete as per drawing and technical specification Clauses 614 708 1204.3.7.  Rispo Merking with hot Applied Thermoplastic	82.880	Sqm	47,940	Rupees Forty Seven And Ninety Four Palse Only	3973
24.00	specification	304,880	Sam	174,740	Rupees One Hundred Seventy Four And Seventy Four Paise Only	53275
23.00	Plastering with cement mortar 15 mm thick on brick work in sub structure as per technical specification	12 000	No	6328.570	Rupees Six Thousand Three Hundred Twenty Eight And Fifty Seven Palse Only	75943
22.00	Inchrical specification proteining as per drawing and	72.000	cum	38.110	Rupees Thirty Eight And Eleven Paise Only	2744
21.00	and a percent planner by welled	3 251	Rm	64289.010	Rupees Sixty Four Thousand Two Hundred Eighty Nine And One Paise Only	209004
20.40	Stapphying fitting and placing HYSD bar reinforcement in foundation correlate as per drawing and technical specifications Clauses 1000 and 1202	27 580	NA.	7372.420	Rupees Seven Thousand Three Hundred Seventy Two And Forty Two Palse Only	203184
9.00	ROC M25 in Deck state providing and laying reinforced cereant concrete in superstructure (Deck state M25) as per deawing and technical specifications.	69.120	cum	15.110	Rupees Fifteen And Eleven Paise Only	1044 /
6.00	Pfain/reinforced cement concrete (M-20) in substructure complete as per drawing and technical specification	19.170	Sym	6592.130	Rupees Six Thousand Five Hundred Ninety Two And Thirteen Paise Only	126371

Executive Engineer R.W.D. (W) DIVISION

Two crore seventeen lakh sixty thousands Nin Six only)

Superinteen

Superinteen

Superinteen

Rural Works Oppartment

Rural Works Department Works Circle Kishangani

AE